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N BACHELOR'S DEGREE PROGRAMME 
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co 
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ELECTIVE COURSE : COMMERCE 
ECO-10 : ELEMENTS OF COSTING 

Time : 2 hours 	 Maximum Marks : 50 
(Weightage 70%) 

Note : Attempt any two questions from Section - A and 
two questions from Section - B. 

SECTION - A 

1. What are the objectives of cost accounting ? State 4+6 
its major advantages to a manufacturing concern. 

2. (a) What are the important requirements of an 6+4 
efficient system of materials control ? 

(b) What are the major advantages of piece 
wage system in a production department ? 

3. Write short notes on any two of the following : 5+5 

(a) Time booking 
(b) Centralised purchasing 
(c) Cost centre 
(d) Payroll Accounting 
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SECTION - B 

4. 	In a manufacturing concern, there are three 15 
production departments A, B and C and two 
service departments D and E. The following cost 
figures are extracted from the records of the 
company : 

Particulars Z 

Rent and Rates 5,000 

Indirect wages 1,500 

Depreciation of machinery 10,000 

General lighting 600 

Power 1,500 

Sundries 10,000 

The following further details are available : 

Total A B C D E 

Floor Space (sq. ft.) 10,000 2,000 2,500 3,000 2,000 500 

Light points (No.) 60 10 15 20 10 5 

Direct wages (z) 10,000 3,000 2,000 3,000 1,500 500 

H.P. of Machines 150 60 30 50 10 - 

Value of machinery (r) 2,50,000 60,000 80,000 1,00,000 5,000 5,000 

(a) Apportion the costs amongst all the 
Departments ; and 

(b) Apportion the costs of Department D on the 
basis of direct wages and that of department 
E in the ratio of 5 : 3 : 2 to the production 
departments, A, B and C respectively. 
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5. (a) Work out the Machine Hour Rate (MHR) 
from the following particulars : 	10+5 

Details Amounts (r) 
Cost of machine 
Installation charges 
Working life 
Repairs and Maintenance 
Annual power expenses 
@ 25 paise per unit 

1,90,000 
10,000 

Five years 
40% of depreciation 

6,000 

Eight hourly day charges  : 
Power 
Lubrication oil 
Consumable stores 
Wages 
No. of Hours per annum  2,000 
What are the requisites of a good method of 
absorption of factory overheads ? 

6. Calculate the cost of each process by preparing 
the Process Accounts form the data given below; 10+5 and prepare the Abnormal Loss A/c : 

Particulars Process - A Process - B 
Materials (Z) 12,000 6,000 

Direct labour (Z) 14,000 8,000 

Direct expenses (Z) 4,000 4,000 

Normal wastage 5% 10%, 

Output (units) 9,400 8,300 

Value of normal wastage 8 10 
(Per 100 units) (Z) 

10,000 units introduced in process - A @ 1 per 
unit. 

24 
20 
28 
80 

(b) 
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